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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

L. This Booklet has a cover ( this page ) which should not be opened Gll the invigilator gives signal to
open il at the commencement of the examination. As soon as the signal s reccived yvou should tear
the right side of the booklet cover carefully to open the booklet. Then procecd to answer the

questions,

2. This Question Booklet contains 200 questions.

3. Answer all questions. All questions carry equal marks.

4. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything clse on the Question Booklet.

5. An Answer Sheet will be supplied to you separately by the Invigiiator to mark the answers. You
must write your Name, Register No., Question Booklel SI. No. and other particulars on side | of the
Answer Sheet provided, failing which your Answer Sheet will not be evaluated. .

6. You will also cncode your Register Number, Subject Code. Queston Booklet 51 No. ete.. with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheel. i you do not
cneode properly or fail to encode the above information, your Answer Sheet will not he cvaluated.

7. Each question comprises four responses (A). (Bl (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. ln case you feel that there are more than onc correct
response, mark the response which you consider the best. In any case, choosg ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
fn the Answer Shecet.

8. In the Answer Shecet there are four brackets { A 1! B || C ] and [ D | against each question. To

answer the questions you are {0 mark with Ball point pen ONLY ONE bracket of vour choice for
each question. Select one response for cach question in the Question Booklel and mark in the
Answer Sheel. If you mark more than one answer for one gquestion, the answer will be treated as
wrong. e.g. I for any item, (B) is the correct answer, you have to mark as [ollows :

AT LC) D]

9. You should not remove or tear off any sheet from this Question Bookiet. You are not allowed to take
_this Question Booklet and the Answer Sheet out of the Examination Hall during the cxamination.
After the examination s concluded, you must hand over your Answer Sheet to the Invigilalor. You
are allowed to take the Question Booklet with you only after the Examination is over.

10, Failure to comply with any of the above instructions will render you liable te such acion or penaltly
as the Commission may decide at their discretion.

11, Inall matters and in cases of doubt, the English Version is {inal.

12. Do not tick-mark or mark the answer in the Question Booklet.
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EDOUBHD SadnybHener o lis :
L Geaus @evsdlud gfwisefer whHiyenw ukselliy.
I Geug Geusdlud syfluresila ssaausamst Nydueiadng.
1. Geug @evbdlud o LThs SbledanLid,

V. Geug @ovéddlud @ cureorhHné sremy.

A) (1) opmin (1) el eoremeu Bl (D, (i) wompo (1) eflureseneu
C) o stluTaiamea D) (V) ul @b eflures

Consider the statements :
I, Vedic literature is a valuable contribution of Aryans

II.  Vedic literature represents Aryans Philosophy
[II.  Vedic literature is a vast store-house of knowledge
IV. Vedic literature is a historical source.
Consider the statements: :
A) (I) and {II) are correct B) {1). (I1) and (Il1) are correct

C) All are correct \Dﬂl (I'V) alone is correct,

Epsberanueubnit, ag sflural QurGHsUul Deirers 2

A)  QuoregresrCrr — u&

B) Geuermeisiemn 2 pLghd —  umired

C)  wp&du Qmple — Guflu Gefhue
D)  elekmgsHamen LipsH@se — Wl UresiL.D

Which one of the following is correctly matched ?

A)‘ Mohenjodaro — Cow

¥ Agricultural Product —  Barley
C) Important Industry — Gregt Bath
D)  Animal Domesticated — Pottefy. '
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PGHY ‘4
3. Geougsmer psdlu @eord - UTTSIT&6N
A @pdur Quur Geutsefier gl wrerg
B) dpsdla Caramiu yfluisamen adlif g Gurfli et
C) Cupdlée Carediu oy flurdergsutsaer erdltsgmn CGurfl et
D) egdveud) wdpb wpsner BHlég Geol it Hlatgdlle g Guiueurt e,
The Bharatas, the most important Rigvedic tribe,
~a)  India has been named after them
B) they fought against Aryan rivals in the East
C)  they fought against non Aryan rivals in the West
D) they settled in the territory between he Saraswaty and the Yamuna.
4, Qer@ésiu L Sahnssaaerd sHeuelsaab
I eygou sl Lsdlé ord (peon syaoraigns @aome.
1. swubd) (sr-Gurgperd) QUTgTETSTE @)dvensa.
L 2whr eugudlenr whpd @&sdlyraer G- Cu seliys é\@mz;mrs:&,@é,s,rrm
T HSHSETReer HreTiL@dleTne.

V. uphsre @bdlu swsrud eufaardlyn N GOUDL LTSS

Glei evoriq (b S &I
Bleuppyer :
A) () vl @o sflurerg _ B) (I)-LD'D@JL'D (H) sflwreremeu
C) {1). {I) womuo (1) sflurereney D) (V) bl @b eflurerg

Consider the statements :

. 1. At the earliest stages the caste system was not rigid
II. Inter-Dining was common

[II. Instances of inter-marriages between upper classes and Sudras were
sighted

IV. The ancient Indian society was based on Varna system.

Consider the statermnents: :
A) () is correct B) {I), (lI) are correct
C) (1), (II) and (111} are correct 3, (IV) alone is correct.
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6.

wheTew waflea eudlsas)

A)

C)

Primilive man lived in

Fe¥)

C)

Qearaiblug Goe r1psH&HE6 & Lo

Al

C)

DRI 68 Sl & Guid

LW SHEr e

Paleolithic Age

Neolithic Age

LI &8 (LPIQ WIT &Hesr6

sblp dlyhem

B)

Dj

B)

D)

B)

D)

@lenL.® HHHTID

a_Geumaéd smeubd.

Mesolithic Age

Chalcolithic Age.

siflp Kgrd

Licvevsu BlTHeT.

In the context of South India cave scriplt means

)

Undeciphered

Tamil Grantha

B)

D)

Tamil Brahmi

Pallava Grantha.

PGHY

ulgwd Ie ulgue Ile e Quimpsdl. G Qarheaiulerar @oldpsamenéd

Qaraim@ shiurea aleowsd Cainha® :

a)
8)
c)
d)
eili@pser :
a
A 4
B) 4
C) 3
D) 3

Gleustsi H6v [HL.60T, LOREN &

Qepmliyl S auflane

unnde cuene@LIT (ipddlen

[617 |

1.
2.
F(HIH6y HE) QLETT HL_&T 2 (D 3.

4.

uligwen XX
amFLim
Couremen
OwwraeresTrm

ST 6 LI 65T .
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PGHY 6

Maltch List I with List XX correctly and select your answer using the codes given

below :
List I List II
a) Bronze dancing girl 1) Harappa
b) Persian gulf seal 2} Lothal

c) Gray stone male dancing figure 3) Mohenjodaro

d) Rows of fire altans 4) Kalibangan.
Codes :
a b c d
A) 4 2 1 3
B) 4 1 2 3
¢y 3 1 2 4
4.

\pj'\ 3 2 1
8. aphs snsad Ggaralpdlurala wdplulie 2 der smauiiy Caralame uHBU
LTINS 2_eTeng| ?
Al efldeflue sLé Qufitarev B)  dluisev
C)  @oveuflemeals Llique D) shs Gevsdlub.

Which one of the following documents give evidence of a temple of Augustus at

Muziris in South India ?
\g}ﬂ Periplus of Erythrean sea B) Nearchus
|
C})  Genealogical tables D)  Sangam literature,
9. oy Hurdl eredimy EHreme erapdlueut wrd 7
A)  edlumer B} wrégneumdudlur
C) ey D} uresdled.
Who wrote Ashtadhyayi ?
A)  Vyasa B)  Yajnavalkya

C) Manu Panini.
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10.

11.

7 PGHY
el Sissusiamerd saly LHn GHUIN Geter LILGET HETHEID LTI Eo0IRS 6T
2fgULemLWTes Clemen_mel. Gldle Qe aldalewsdhg 2 L ul L aeu.

A)  empElHTem LHOID U GSwmeotT B) ur'réeurgrrg;n WHIYD eut ST eT
C)  arpdlpram whmbd Sy EnTeT D) umeeuBTET whHod BTG,

Excepting the Jaina Tirthankaras, all the others mentioned in the tradition are

mythical. The two exceptions include
A
A) Santinatha and Vardhamana B 1 Parsvanatha and Vardhamana

C) Santinatha and Adinatha D) Parsvanatha and Adinatha.

utgwée Yo ulguwé IXz La Qurpsdl. ECp Qar@ssuul Geien GHlUGsoens
Qaran@ sflurer alle_ows Coibbis® :

ugwes I vl ques II
a)  (WsH® ysHs wIHTEH 1. eneuamell
b) @peLreig LHs WIHTH 2. greodlysb
¢}  epeoTaig UHs ormprE 3. urelysdlgn
d) mraésreug yss LIHTH 4.  sTeiydi.

@_@57&)0@63677' M

A) 2 3 1 4
By 3 1 4 2

c 1 4 3 2

D) 2 1 3 4.
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PGHY 8

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) First Buddhist Council 1) Vaishali
b} Second Buddhisi Council 2) Rajagriha
C) 1I1 Buddhist Council 3) Pataliputra

d) Fourth Buddhist Counci! 4) Kashmir

Codes :

a b c d
A} 2 1 4
B} 3 1 4 2
) 1 4 3 2

w2z 1 3 a
12, apeuenQuallamema &1 QgrLiysmiug
A) Uss wsHb B] urseu D
Cl @ wsid D) swewt gwwb.

Sravanabelgola is associated with

A) Buddhism B) Bhagavatism
C) Hinduism _ \yﬂ Jainism.

|
13. Spésai. curshdlukisemens seale : '

Fnhml (A) L UTpEE LT &Tevbhdlds T (&l.p. 588 - 530 ) e (WsaTs
@udlur-uryfed @eLBu sydue GerLiy ghulLg eaeatug
SiemesieuTTeyid splilld ©lemersmiuREng).

sryasid (R) @ geur @hdurale e Gube ugdlews sreadl smye ueeabsrée

wHmbd @HEIGY weeliugdl, HTHSTID 2 U Ul L UGSlsaens sHearg
GupraL e Glenerdgid ©)8TesmLTT.

&8 GO Reter @IS g6 sMuren e owd CorfbOs®

A (A) vpmo (R) Gyess@in afl, Cueud (R) ercirug (A) efibe sflurer eflerésid

B) (A) wbmn (R) @resor@n o, @mgg@ (R) eresiugy (A) elibg sfluTen aleTéaweuee
Cl (A efl gyeomen (R seum

D) (A seuny emes (R) el
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Consider the following statements :

Assertion (A) © Il is universally accepted that the first political contact of India
with the Persians started during the reign of the Persian emperor

Cyrus ( 588 - 530 - BC).

Reason (R} : He attacked the north-western part of India and annexed the
valley of Kabul and hilly regions of Hindukush mountains

including Gandhara.
Now select your answer ac-c:ording to the coding scheme given below :
‘R,A'jn] Both (A} and (R} are true and (R} is the correct explanation of (A}
B)  Both {(A) and (R) are true but (R} is not the correct explanatloh of (A}

C) {A) 18 true but (R) is false
D) (A} is false but (R) is true.

" Slesbevraoi i Lol QuElY @ Sflue CanBiCu sally g wrdGLrallud
ugheTUmUS oslupdlusTed obhs BiTher oloaaloayb ghu@dsealdeamen::

@Qem s gadlweul wTT ?
A) V. A sublg B) R.C.g@bgmr
C)  Gemugr D) Dr. werg.

"Nor was Alexander's campaign a political success for it did not result in any

permanent Macedonian occupation of the Punjab.”

Who said this ?

A) V. A Smith B) R.C. Majumdar
C) Chopra " ¥)  Dr. Mookherjee.

rgiﬂ | Turn over
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15.

16.

17.

2_eudledr WlalupebuTe gD &g ?

Aj

C)

4o WwsD

@bai e

10

B)

D)

Which is the oldest religion in the world ?

A)

£\
NG

waralyfler shevs Gt eaees ?

A)

C)

Buddism

Hinduism

Q.&)g)rrr'rg',g,rr

Q&eng D

Who was Mahavir's father by name ?

'

& | Siddhartha

C}

Qsenzn Uussr Siphs @b

A)

C)

Gautama Buddha was born at

A)

C)

Goutam

urL eSlyS &l

S EUFTEY

Pataliputra

Vaisali

€17

B)

D)

B)

D)

B)

D)

B)

D)

:l]‘-

D)

81DE00T FHWID

SpHgieu LS.

Jainism

Christianity.

glendlgmen

T EHev.

Tulsidas

Ragul.

sUleveue g

MIHTS.

Kapilavastu

Samath.



i1 PGHY

USsT eThig @Dbet ?
Al @él pei B)  amevdlemyt
C) Jammi D) enpprs.

Where did Buddha die ?

A

\.A) | Kushinagar B)  Hastinapur

C) Bihar D} Sarnath.

g6 FWGHOSS CorbmyelGaer wrr 7
S A ussr ' B) werafyi

C) gendlgmen D) w@srgn.

Who was the founder of Jainism ?

M

A)  Buddha | \B) I". Mahavir

C) Tulsi Dass D)  Yashodha.

Qmeﬂrﬂu_lr'r srasdla GuhHOareeTiLlL UEhHe BleuTres bHLeugbasea: UDHD
SpéeeoL H06lulHéseaie org @OLIG&ng 7

Al slsde séGeul (B B) waseugd sl {

C)  ebusT sebleul (B D)  OQerseurgm &Gl (.

Which of the following inscriptions refer to the famine reliefl measures of the

Mauryan Period ?

A) Taxdla Inscription ‘ B] Mahasthan Inscription

~

\9’) | Lampaka Inscription D)  Sohgaura Inscription.

617 | [ Turn over



PGHY 12
21. Spsecoi gyargusetles ag Querflutser godyaior Sifeeaus Cethseudaet

aresin @O Reug

A} ygreoostgen
B) SO &R EN
C)  yreursv

D) eGmullu epssrenimetlen uaLUyssl.
Which of the following sources describe the Mauryas - as belonging to the

Sudravarma ?

Fat

“4&} | Puranas B) Jatakas
C) Purvas D)  European classical writers.
22. Ve&raumb eabpeeiie oGersrg sanbo Baoalla org 2 auembureg ?
L. GiILEGDUTET LT e LSS L&D bHD FLeEAGEHeHGD HCerHHEEGD
Qebs 2-papon b ellaifadng.

I swapgd Nyrdps G e aupsiu Rereras.

. gl eps Hwerddlaund LweTuDSsUL HeTenes .

V. @bs AsTI0 uaGeug Gevadlus sreneCerm@ ois eTevlLGH &TDET.

Bleungyer :
A) seoapgn sflurarans B) {II) whmd (V) sfluresemeu
C) (1) bHoud (111 sflwr e emes D) (D) wpmd (V) eflurenemen.

Which of the following statements about Asokan edicts are live ?

I.  Majority of them describe his realationship with Buddhism and the
Sangha.

1.  All of them are written in the Prakrit language
III. Brahmi was the script used in all of them

[V. Their evidence is corroborated by that of several literary sources.
Select the answer from the codes given below :

A)  All of them \Bf] (1 and (V]
C) (1) and (111} D} (I11) and (IV).

617



13 PGHY

23, ulguwer lwhmyd ulgwe I1-e oybs.

ulguer I uigweo II
. sbemrigr — wegilés peatenw sulauge Gla i
1. wesTéESer — eumaUTE EBifeursg e QuTmumer
. prsp®&eaer — wranL getailé eapsan vesnllanen

ChOlETeTEhD SIEHET 6YeUGT HEN
V. SinGadlser —- Armoliypreefle Hlegeneanear wHDED
wHOSE Qebse whpybd Hidepigb
wTeUl L blartise.
@levomier ergy sflurs Curshsaidare.
BGyp Car@sseii perer GPllpesellalmng efluratsuhens CartGs(6.
A) (1) wprys (11} sflwresrene B) (I wpmud (1) #flurenene
C) (). (II1) whHmyd (V) efluraTame. D) {I1), (1) bHrd (IV} giflumesteney.

Consider List  and List II :

List I List If
. Samharta — Chief collector of revenue at the centre
1. Yuktas — Incharge of the revenue administraton of division
[II.  Rajukas — Subordinate officials doing clarical work at the

district level

IV. Pradeshikas — District officials doing surveying and assessing

of land and dispensing justice in rural areas.
Which of the following are incorrectly matched ?

Select the answer from the codes given below :

A) (I) and (1) B) () and (111)

C) (). (D) and (IV) ~ (). (U} and (IV).

r6_1'7 ' [ Turn over



PGHY 14

24. ugTapi LEWE Gassalld HCeTErE Goes SAQML D6 aHH@E STl

u@dlepest 2
A) G B)  apeipy
C) pre® D)  ym.

How many cave inscriptions of Ashoka have been found in the caves of the

Barahar Hills ?
Al Two B} Al', Three
C) Four . D} Six.
25. aelhel Gureayl L &@érr&,@r) GO Qe g
A) X urenp Gleul @ B) X uremp Geul (@
C) Xiureom Geul @ - D) Xl ureom ©eul @.
The account of Kalinga war is given by Ashéka himself ’in
A) IX Rock edict B) X Rock edict
C)  XI Rock edict \0f | Xt Rock edict.
26. oedleysi Gibs 3 00TIqE &rr&& FHMUGHHBH B et .
A) 9. 87 B .. 78
C)  dlp. 78 D) dl.ap. 87.
Kanishka founded the Saka era in

Al 87 AD. 3 78 A.D.

C) 78 B.C. D) 87B.C.



27.

28.

29.

15 PGHY

SBarameru Habloul HesT Gaama pidlusaain Qundaina.

A} SEney 2Cemamenw CUTDHENG WHNID 1T HEHETHNET HIdHES, LL-D Olig &g

&1L [Hdleimen
B)  oGsrapaoiw vablaaamiu o pwred Clelalsdlame
Cl}  sadlmay Gurflenr QEar@rsans BLEHEGS Famdlesimen
D)  (@emeu enatsHgib.
The importance of Ashoka's inscriptions lies in the fact
A) they give us a picture ol the life & achievements of Ashoka
B) an insight into Ashoka's mental make up

C) they tell us of the horrors of Kalinga war
Wi | all of these.

Coouprbiiu Silgadl - saeflar se@riibefust whpd Swwdlura Cerbpb
Qnedoieui eredip UL L. Senal Clubmeur
A Sodsmyi B gy
C) oGama _ D) shdlieus Cuwerifiwu.
Devanampiya Piyadasi-beloved of th‘e Gods & of amiable appearance was the title
taken up by
A) Bimbisara B) Bindusara

\_Qj. FH] Ashoka D) Chandragupta Maurya.
‘Cpel epSly@isn’ erasp Hrene Wt

A) sreflamer B) LI GRST I
C)  amieyr 7 D)  alenessser.
'‘Devi Chandra Guptam’' was written by

A) Kalidasa B) Bana

A
C) Harsha U?Ji |I Vishakadatta.

5—6 1777} { Turn over



PGHY 16

30. Seanturd ST &ebleut (B WTFmey 2 (heur&ali’ L & ?
A) I gt B) LI &To1
C)  anfGaeamt D) @leubmet egadldemen.

The Allahabad Pillar Inscription was composed by

A) Bhasa B) Bana

g

") ' Harisena - D}  None of them.

31. @ueiLmhd shdlielust arebdle wr @g’r;p_ﬁ]u_l_ﬁsmmu Umiemeudll L g ?

A GLé B)  uredlwres

C)  yeumet &eurd D) Gusevgeien.

During the reign ol Cl;landragupta 1. India was visited by

A)  Itsing \8f | Fa-hien

C) | Hiuen Tsang .D) Megasthenes.
32. ®LUs yyeieer QuUITgeurs @&&L_sy@eﬂu Wetrupmieut seft

A)  Sleuas | B)  Jlybwesn

C)  leiygmy D) ussf.

It is generally held tﬁat Gupta kings were (ollowers of

A) Shiva B) Brahma

& Vishnu " D) Buddha.

T |



33.

34.

35.

17

A)  euremedlue B)
C)  vEsgeubd D)
Charaka Samhita was a book on

A}  Astronomy B)

7) Medicine D)

617

PGHY

Sesteumeueeubmial erems sraflgrss @uibpalome 2
A) Gusgrsid B)  @uwrysbUeb
C) antessdab D) gweubs.
Which of the followng was not authored by Kalidasa ?
A) Mega Sandesha - B) Kumarsambhava
‘\SZ]'/*IL. Harshacharita _ D) Rahuvamsha.
sueHTel unaqw, Gay wateTast g wLrGUGDL Qeupdleowy QubdD FhsaTe
WDESTEBTEDT WITH 7
A) @&ré:@l'_@msiﬂ. B) sweurg
C)  eflsmeen D) OpEEoe s
............... won a great victory over Chera & Pandya conternporaries in Sangam
Age.
A) Senguttuvan B) Gajabahu
\Eiﬂil, Karikalan | D) Nedunchezhian.
81y & Fhablgd a6 UssHD eragls ubilu qein; ?

&0 L0

2. Barag Qamfle.

Mathematics

Metallurgy.

[ Turn over



PGHY 18

36.

37.

ahes Sableul( anioyaigimen. w aurgrdl ueaL QuRHiveud ubfl BLEGS
g fleliadlama; 2

A)  iGamme e Hevbleul { B) grammag uren sablail(

C) srwsryf Qslyl ulLwb D)  peuesrd Qeliyl vl _wb.

Which of the following inscriptions gives us information about the conquest of

Vatapi by Harshavardhana ?
A) Aihole pillar inscriptions B}  Junagarh rock inscriptions

C) Damadapur copper plate \B{)’\] Navasasi copper plate.
weurest seuridlarme @BoL iUl sapall LPSsapsehnser Ldrameaes eubryei
Teoey GiTlLT eoTemeuseT 2
L efgee wpmer Lpben @emes
. 2wi eweilaflLd LlElw wasbams cpgsds Q&TaEEHD ‘UTSHT WD
Qobssres Csfldldng.
III. &gl eretip 2 LeiTaian gnib euPsHaDd iU’ L g).

IV. gpere slL adbqpiseamd erd saly, Smbamss Hyawdéel

UL e lévemey.
Bleupmyet :
A) (1) whmuo (I1) B) (1), {111) whHod (IV)
C) (1. (I whHmw (1) D) oeasgb eflurataneal.

Which of the following are correct about the social customns as observed by Hiuen

Tsang ?
I.  There was no custom of widow remarriage
1. There seems to have been Purdah system among the higher classes
III. The system of sati was known

V. Inter-caste marriages were not permitted by the lawmakers of time.

Of these
A) () and (I1) : B} (). (Il) and (IV}
C) (1), (II) and {li1) ™ All of them.

|

jop}
—
~}



38.

39.

19 PGHY

umessti er(pdlu i ewe Mg Sy semg L NereumEh cursdlunselle ag eflurarg 7

A

B)

C)

D)

Sig dU0 HFuruhsmasd Cararig. Weae Sdurud anieaymenL w
T p&Hans wHpId GHOLD ubD elleflédlamng.

40 LHNG FPreag JSSuTuhsst apfagGoLw vl Cu@ELY WwHHID
Qeupiienwl upmd alleurdlédlaing.

gL g whobd el meag sSurunsa albdlu sr@eefld @@wmbs &wwls
Ofleyset upHl preGs Qaflalsdlama.

@Quusssd anfeyT sresgdle uaisédluomibs OCorangmhs HeTU
Qur@eTTgryHasl uhdlu CleLdiaamen pLHGS &HSOTDE.

Which of the following statements about Bana's Harshacharita is not correct ?

A)

B)

C)

It contains eight chapters and in the first chapter he describes Harsha's
life and family

The sixth and scventh chapters deal with the wars and conquests of
Harsha

The last and eighth chapter gives us information aboul various religious
sects living in the forest of the Vindhyas

The book gives us a good idea about the flourishing urban economy of
Harsha's period.

urewTT @SS s hsetler oy ifluf

1. urieud) ufewstwibn
1.  srgbudf

HI. emieay gflan

V. uehsgbdlyid

V. ggeoredler. -

@leunmyer :
A) {1, (1) wpgyd (111) & flurersme B) (D, (1) wHoud (TV) sflurereneu
C) (111, {IV) opod (V) eflureraeu D) (D). (111} whmo (IV) efturesemeu.

| 617_ | " [ Turn over
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40.

41].

Bana was the author of
L Parvall parinay
[I. Kadambari
[II. Harshacharila
IV. Panchatantra
V. Ralnamalika

Of these

S (1), (I1) and {111} B) (11). ({11} and (IV)

C) {1H). {(IV) and (V) D) (), (II} and (IV).

dHBme o wHnD Cuet LeauTse she @ebdlusdoal UL &sLl
LUk HeTT T SeT 2

A) 471 B) 473

C) 475 D) 478.

How many poets and poetesses had contributed to sangam literature ?
A\

A 471 \B)| 473

C) 475 D) 478.

uligue Io ulgue 2 L QurEpsdl, £Cp Qerdési Peaer @dliGaamens
Qerean@ sflurer alloLaws Caihboad :

Ul gquwes I urigwe II
a]  senqy 1. Slpwansdhe wbdly arad
b) &by 2. pesor Sifley
<) @bigd 3. Méslssiu L lmwesd
d) umeve 4, QupGmri dlurnd $lmuoemsibd.
GOHseT
a b c
A) 4 3 1 2
B) 4 3 2 1
c) 3 4 2 1
D) 3 4 1 2.
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Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) Kalavu 1) Pre-marital love
b) Karpu 2) Long separation
¢) Kurinji 3)  Arranged marriage
) Palai 4) Marriage without parent's knowledge.
Codes :
X a b c d
Al a3 1 2
B) 4 3 2 I
C) 3 4 2 1
D) 3 4 1 2.

42, wguéd Teg uigue o & Qurepsdl, £8yp Qer@asiul Geren GHWUGeamer s
Qenan® sflures ol sws CaipGie@ :

uciguey I uligues II
a  waend bEahlTaTLE 1, gaipbler persod st

b)  (pserd uFGweveuyauTinss 2. ybldler dusn

¢}  dlboalledvan) 3. slleurs prat Cemilened HUigweur
d)  @gesorimid miydlbosauinest 4. e cuers Cordemensd sl Lb
Qg m_mgluieur .
@olipeer :
a b c d
Al 1 2 3 4
B) 2 3 4 1
Q) 3 4 1 2
D) 4 1 2 3

|6#l‘d [ Tum over
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Match List I with List I correctly and sclect your answer using the codes given

below :
List I List II
a) Mahendra Varman | 1)  Destroyer of the city Ranarasika

b) Paramesvara Varman I 2) Lion of the earth

c) Simhavishnu 3)  Construction of Kailashnath Temple
. d) Narasimha Varman [l 4) Beginning of Rock-cul temples.
Codes :
a b c d
A 1 2 3
B) 2 3 4 1
C) 3 4 1 2
x'A'
2| 4 1 2 3

43.  udeveu 2 deow (P asGH LIeTat(h euhg GuTT gl 2
A)  Ggerermyy ~ B)  &&Gared
C]  dlmuypbliub D) yflflenrbohssny.
Which batlle terminated the Pallava rule ?
A) Tellaru B} Thakkolam

2 ] Thirupurambiyam D)  Arisalattrangarai.

44. ppGaafl e b QaresiL Gemyp Syyaf wir 2
A alspwimevwedt B)  @oroyrs Cempes
C)  ydlsur D) @Gueornd GyrCeondlyes.
Who was the chola ruler to adopt the title of 'Narkesari' ?

| -\ﬂijl Vijayalaya B) Rajaraja Chola

C)  Aaditya D)  Rajendra IL
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23 PGHY

.............. sresrueuf  @hdlurailes Sgen ubssmsd CaThmelssai e

&(HeLLGS m .
A)  wewg Lt srdib B) sl pang
C) Garfl yaws: D)  @sydler eus.

................ is regarded as the founder of slave dynasty in India.

A) Muhammad bin-Quasim B}  Mahmud of Ghazni
C) Muhammad Ghori “n) _.': Qutb-ud-din-Aibak.
Qi cvellerw gy evorL. (s Gluetor oyyd |

A)  gélur sagrem B ereil

C) oradl gresh D) @ureasi ugblel.
The first woman ruler of Delhi was

£,

A) Razia Sultana B) Chand Bibi

C) Jhansi Rani D) Rani Padmini.
eureydlert dleuvsdlilest (DL &0 s &M ueflwm et

A)  wrelld ereoyl B) @idlév sumedr

C) g6 smedt D)  @eurseile eeumdbler.

Alauddin Khilji's trusted aid was

TA, Malik Kafur B)  Tugril Khan

C) Alzal Khan D)}  None of them.

apebg Ve gihend Hewbsay G dellledmbs GhnHaHSHE WTHD (WPLETHT.
A)  eygheTuTS B) @gmmg;rrurrg,

C) SIHLSHITUT G D) CapmehaTurs.
Muhammad Tughlaq tried to shift his capital from Delhi to

A)  Aurangabad ‘LB)A] Daultabad

C)  Ahmedabad D) Hoshangabad.

R’lﬂ | Turn over
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49, Qe sesreamaealles sreiuell  @hpeurelsel b 2 wnenwaw

QeueniphHe o Ml sl ey lumaud, Garfabiu@ssiubaamsyd sl

Qlgwgm.
A) QuGrrey guéoné B)  psng Oler gsens
C) dlunsdler gidons D) @eutseie sraimdler.

................ among the Delhi sultans abolished mulilation & torture as a means

for ascertaining truth from culprits.

~\

A | Feruj Tughluq B)  Muhammad-bin-Tughluq
C) Ghiyasuddin Tughluq D) None of them.
50. @everdlu Cuprens 2 @oeowrss Cerhrpalsseur w2
A @éeas Wieiy B)  umévuiest
C) prélpsle wpawng [T AL A
Who was the real founder of Muslim empire in India.
\;’E'J'“ﬁ! N{umash B) Balban
C) Nasir-ud-din- Mahmood 7 D)  Alauddin Khilji.
5l. &he o UTue QDhHETT 7
A) #.19. 1286 | B) &, 1285
C) &l 1280 D} &4l 1284
When did Balban die ?

& | 1286 AD. B) 1285 A.D.

C) 1280 A.D. Dj) 1284 A.D.
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53.

54.

55.

25 PGHY
uréuenes Uligsin iewsenms Hlunerb Glelgar wrr 2
Al mehe sres B) mremdet (peng
C) otus D) ol @euen.
Who appointed Balban as prime minister ?
A) Jughril Khan ' % _ﬁ?',_ Nasir-ud-din-Mahmood
C) Aibek D)  Amir Khusro.
The AEIH Qowg slel sysgreTt 1
A) 414,998 B) #.9. 995
C) &1.4.990 D) & 996
When did Mahmood Ghazni become a ruler ?
) 998 A.D. B) 995AD.
C) 990 A.D. D) 996 A.D.
Qe mevgresilu CGuryeme s Leu@SHlweur wrr 2
A) LT guLIeBT B) @ous
C) bt @euen . D) spearender dlegdl.
Who strengthened the Delhi Sultanate ?
., Balban B) Aibek
C) Amir khusro . |9))] Jalaluddin Khilji.
@ibdlur g Criw v QuEiy updl Speumd abr, ‘G @bdlu eurerhndle
B QUHD #TaTIER sk Blepay)” - Glgemeé andlueut wrf 2
A) SITTeotey LTl B)  Geuedr 6
C) an®asld Ganis D) A L. wfeuraugeun.

The following statement on the Arab invasion of India, "Il was simply an episode

in the history of Inda" was made by whom ?

A) Colonel Tod B Lane Poole
C) Wolseley Haig D) A. L. Srivastava.
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56.

57.

GHUSHT DGILsHle LTOILmHD FFHNOT ToTLE
A)  sgdlafly s Ghdur Qeriseu pgar Geige
B  @iduralé (pevelb syfleasans ghuGoase
C)  eaubamt sl qug
D) ueLgseudlaepl et Qamanmy Ghe QUGHheoT .
Qutb-ud-din's greatest achievermnent was
A) , ending India's connections with Ghazni
) | establishment of Muslin power in ldnia

C) the construction of Qutb Minar

D) his generosity towards his generals.

Spssaoi. euTHlunsmens seua

sabm (A) . oOus grsrrel usalBubushe WE&TCU HBbwe 2 PaEST peD
geieneat Lelnedle Olametor .

sTreod (R) @ @wrer ugd seuienfre sneoda Gdear Gleodlay dpwesin Gladg
Qgragon_mi. Gy Jdharesdés Lgs! yegmeTr.

QY el Gerer @Ol ge sfune el ewg CoiHOsE@

A) (A vhnbd (R) @res@ind M, Cueayd (R) eratugy (A) elibg eflurer alanéen

B) (A) wponbd (R} GuesrGuo efl, Gueud (R) srestug (A) elbhe sfluren allensaweien
C) (A fl yeomed (R) oy

D) (A) seuy Syenmé (R) s,

Consider the following statements :

Assertion (A} :  Aibak strengtlhened his position long before his accession to the

throne by matrimonial alliances.

Reason (R) : He married the daughter of Taj-ud-din Yildis. the Governor of
Kirman who laler on had become king of Ghazi.

Now select your answer according to the coding scheme given below :
A

\.Af | Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and {R) are true but (R) is not the correct explanation of {A)
C) A} is true but (R} is false

D) {A) is false bul (R} is Lrue.
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ulgwe e ulgue Mo Lar Qurepsdl, £Cp Carpssiul Beter GPUGsmens

Qerean® sfurss aloLews CoibGaf :

a)
b)
c)
d)
elSpeer :
a
A 4
B 3
c) 2
D 1

L iguiee X
e Heamules Gumt 1.
(Wpees Lrettul Gumr 2.
gl UsoL Glw@Hoy 3.

Gemwprsy Cardlé Gy liy 4.

1 2 3
4 1 2
3 4 1
2 3 4.

uligweée IT

#.49. 1191

.. 1526

4.9, 1398

&9, 1025.

Match List I with List XI correctly and sclect your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

Al 4
B) 3
C) 2
|

List I
First Battle of Tarain
First battle of Panipat
Timur's invasion

Desceration of Somnath temple

b c d
1 2 3
4 1 2
3 4 1
2 3 4

7]

1)
2)

3)

List 11

1191 A.D.

1526 A.D.

1398 A.D.

1025 A.D.
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59. durasgdea urdualdr 2 @membureat QU

A) LIQUT (1 &5 68T B)
C) LD e D)
Giyas-ud-din Balban's original name was
\A{ \ Baharuddin B)
C) Bahram Shah D)

60. ehg oy LIGTTey giHeTH HreonTeanTT 7

A 9. 1388 B)
C) 4.9 1381 D)
When did Feroze Tughtugq die ?

\v;{}q' 1388 A.D. B)
C) 1381 AD. D)

@eursom

DS .

Khwaja

Masud Shah.

&l.4. 1380

#.9. 1383.

1380 A.D.

1383 A.D.

61. Geaigdliflow ahs o am® LIaE amyd sréadlerTi 7

A .. 1307 B)
) 4.9 1306 D)

When did Malik Kafur attack Devagiri ?
l 1307 A.D. B)
C) 1306 A.D. D)

62. dlagl abssamsd Camdneldgeur wr 2

A) sareder Hgd B)
C)  wrellé sy D)

Who was the founder of Khilji dynasty ?
\m’ﬂ“ﬁﬁ Jalal-uddin Khiljt B)
C) Malik Kafur D)

| 617 |

&l.4. 1305

#.9. 1308. .

1305 A.D.

1308 A.D.

Sjereydest dleugd

Dlardlir smebr.

Alauddin Khilji

Khizir Khan.



63.

64.

65.

29
g&eréd aullsganss Corbmeldaeur wri 2
A)  dursgen giders 13)
C)  Haaspsir Geoury D)
Who was Lhe founder of Tughlaq dynesty ?
\ﬂﬂ Ghiasuddin Tughluq £3)
C) Sikandar Lodi D)
Slevghl eunasdles memlgl syyei wri 2
-A) SHENGITEDT (GHEVE 3)
C)  gmem pHsen iy D}
Whof_ylvas the last ruler of Khilji dynasty ?
\u}};.. Sultan Khusro B)
C) Rana Ratna Singh D)

AOCrmegr gidbend

s esTT GITEST,

Feroze Tughlug

Juna Khan.

(PLITIT & ey
g Bledt].

Mubarak Shah

Padmini.

PGHY

ulgwée I ulgue Ilead Qurepsdl, #8p Qerfsaiul (e GOlfeamené

Qaress(® sflurer el aws Caiblls®

ulig e I
a) Gleuenefil gheT 1.
b)  dleuretl Gemam 2.
cl  smmev-ayUT 3.
d)  ewresd {§)-oesong 4.

A 4 3 ) 1
B) 3 4 1 2
c) 3 4 2 ]
D) 4 3 1 2.

617 |

ugwen IT
SeurayFes Sdg
ACymeayr gigend
GieEileiy

(PHWLGI BIHETE:.
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66.

Match List T with List II correctly and select your answer using the codes given

below :
List I List II
a) Silvrer tanka 1)  Alauddin Khalji
b) Diwan-i-Kohi 2) Feroz Tughluq
¢)  Dar-ul-Shaba 3) Iltutmish
d) Shahan-i-Mandi 4)  Muhammad Tughluq
Codes :

A) 4 3 2 1

B) 3 4 1 2
2

| 3 4 2 1

D) 4 3 1 2.

Sye AIf_gdler 2 eien gelGleur wposid g aleusrilaefle semeanii wevdlu
seomafleliphe atwbs 758 sielleer G0.

goell magraisen aresdlea @Qhdlu allamsrdlselar cpon Hlaewamn uhbl
Cupendu @Aludlemas shaat

A) LIy esy) . B) @uest UL B

C)  Uleaprse_dler Hyrsh D) ouft @eues.

"Every pearl in the Royal crown is but the crystalised drop of blood fallen from

the tearful eyes of the poor peasant.”

The above remark aboul the poverty of the Indian peasants during the Delhi

Sultanate was made by

A) Barani B) Ibn Batuta

Fa
C)  Minhajuddin Siraj \P)| Amir Khusrau.
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aTh@Bhe auded HeoiL. Bl sl wHmnb @eonbhs Brise o8 uflbser 2
Al ougeow eubed wHnD &g aibsn
B)  gi&erd cubsb HMIL msws suDSD
C) Syg e euibad bHnd Geurl. euban
D) ag]é\)é] QUDED HTYD Mg abaD.
Which of the [ollowing dynasties had the longest and shortest rules
respectively ?
A) Slave dynasly and Khalji dynasty
\H) ..'I Tughluk dynasty and Syed dynasty
C) Slave dynastly and Lodi dynasty
D)  Khalji dynasty and Syed dynasty.
‘Criremiowre sraundlenrdos ghufshs elpollu gaellenw oy el poHee gihed]
FEOHTET ST QLU - EYSGH(HEHE WT(HEI_WIZ 7
A) A L. wfeuréaeur B)  Gemign
C) V. A suds D)  seuTier.
"Jalaluddin was the [irst Turkish Sultan of Delhi who placed before him the ideal

of benevolent despotism” — whose opinion was it ?

A
|

“ A | A. L. Srivatsava B} Chopra

L

C) V. A, Smith - D)  Savarkar.

SeoTeyses Hlevsdlllest (poaTemn 9, Came s

A)  Plur-a ges Lyl B)  wredld yeum-2_co-(iped
C)  @Guesr u@n _ D) éﬂun&.ﬁfs&r 56T &,
Ala-ud-din Khalji's chief advisor was //

A) Zia-ud-din Barani #) Mali’léAla—ul-Mulk

C) [bn Batluta 2 Ghiyas-ud-din Tughluq.
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70, oyhdly Gumresr erebrmi GlLmhenwGUT(H eI L eurt

71.

72,

73.

\J

A dlmeiyem Caeunmwm B) gderarei GlLigs e e
Cy allre gmwr D) &l 3 .

................... was [amiliarly known as Andhra Bhola.

A Krishnadeva Raya B) Allasani Peddanna

C) Vyasaraya D) Yusuf Adil Shah.
allounsy cugerhdle FGLyapaenurs Seowhg GUTT erg 2
A) @D B) 5&G&sTeulD

Q) Genevs G e emL. D) umedl,

"Which battle was the tuming point in the history of Vijayanagar ?

A) Kuppam B) Takkolam
A .
|

Talikotta D)  Pali.

Qg Guntléd &lmpeipessr Cgeurmuyne GamhHag & Leur

A @Dng T B)  @evwrdlés g6 agn
C} 2 auld e D) W& DgEn G .
Krisnadeva Raya defeated .............. in the battle of Raichur.

A} Ahmad Shah 1 Ismail Adil Shah

C}  Alam Shah D)  Yusuf Adil Shah.
Hlmeiyeonr Goeupmuit regrE&DGUrg ... euwg Hiyodlueur.

A) 12 B) 22

C) 32 : D) 20.

Krishnadeva Raya was ................ years old when be became king.
A 12 o °, 22

c) 32 | \ | D) 20

617 '
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74. Slpeyewm Cpeuprut Canleml s sLg&sOBTsET JOUSTHADEG yguvd cuphflu

75.

76.

@b
A) geuell - B) Jyi
C) Ll&é D)  @eupmet & gsublévenen.

Krishnadeva Raya gave pcermission to Albuguerque Lo build a fort at

A) Delhi B) Berar
\_C']. ’* Bhatkal D)  None of these,
ellspum ey SyTaTametien WIT 9y (P& LOWITET G&TD BT erpdlueurt
A yber B)  amflangr
C)  dlmeiyersr Caeugmur D) @yemLrnd Caeuymun.
Which one of the following Vijayanagar rulers was the author of Amukta-
malyada ?
A) Bukka B)  Harihara
\Of ] Kirshnadevaraya D) Devaraya II.
abg Tl orad somensor Goutasraldlphg J_mGHE wrHhleTTT ?

A) @TLmb e eydeh B)  ®5ws ayreured

C)  @webobg ayr D)  epesipmd (pSHDIDG).
Which Bahmani ruler shifted the capital from Gulburga to Bidar ?
Al Alauddin Il 4)  Ahmad Shahwali

C) Muhammad Shah D) Muhammad JII.
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77. a’:gpéa&,aim_ o S EUhiGHaen & Soued :

ambhm (A) : allwhsi sSTesSe BTWE WD LTETEOD WHnID 2 ererm &l

Wifeyseflesr Blireurspdles $g opeflar oflerrsang o wisHus.

sryeotd (R} @bepepllaiug, srus@ss ooeg UTETUSSTITEEnhsH S
Sjeuts@hent. W e uailédE. sbuaddlnel uders Sogh'’
eretn Hlevd eupRIGLLLL g).

g8y @il Geiten GOy aflurer alaows Carpsd

A) (A) opopd (R @yem@d efl, Guean (R) eretiug (A) eflibe eflures alenéaid

B) (A) vbmid (R} Gessi@n el Gue b (R) erasiugy (A) elh@é sPure aflendsncien

C) (A} sl gyeés (R) geuny

D) (A) seun e (R) adf).

Consider the following statements :

Assertion (A) : The Nayaka System of the Vijayanagar period increased the
control of the King over the provinces and local units of

administration.

Reason (R) : Under this system Nayakas or palegars were granted amaram in
lieu of salaries in return for their services to the state.

Now select your answef according to the coding scheme given below :

A) Both (A) and (R) are true and (R} is the ;;orrect explanation of (A)
\gfﬁn Both {A) and (R) are true but (R} is not the correct explanation ol (A}

C) {A) is true but (R} is false |

D) (A)is [alse but (R} is true.
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78. Qgeelhdluraing sumaoms yflhs Vdaraumd Qeuefinml Lourseeasd ara auflaatiug

sflunen udlevend CainholgDeseayD:
L mhiserGeur Gamevoig
. QuomAiGesm ey
HI. wriGar GurGer
V. @l ugram

V. lge mems.

Bleummyer :
A) (1. (V) . (1), (V). (1) 3)
C) (Iv), (10, (V). (1), (11 D)

(V). (I}, (1. (1), (V)

(11, (0, (V), (1), {Iv).

What is the chronological order of the visits of the following forelgners o South

India ?
L. Nicola De conte
lI.  Domingo Paes
[II. Marco Polo
IV. Ibn Batuta
V. Abdul Razzak
Select the answer {rom the codes below :

A |, vy w. v, B)
C V., V), @, @ D)

617 |

(v). (0. (. (. v)

(D). (0. (V). (1), (v}
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79. dpsaregiueuhnen, ag sflurel Qur®mesLUL BeTerg 7

A) unblefl e Gaharen GurillL g —~  QUBE] & el
B)  umblel syedad Geutsepe CGurilcert  — epeipmd @pelogy ag
C) o seuTss @eurmd Glareeliucm — QUEET ued
D)  ap&@prd (pong aurals eudh — (PHDG| HEUTEHT.

Which one of the following is correctly matched ?

A) Bahmani Kingdom fought for — Vijayanagar ruiers
B) Bahmani rulers fought with — Muhammad Shah Il
C} Mahmud Gawan was killed by ‘ — Raichur [Doab
N\
| Muhammad Shah [il's Vazir — Mahmud Gawan.

80. o f Ayps uimoLL sTabHle QETGHSILLL S 7

Al eEpTas Cael Bl  @®msTev
C) &m fgre Gas D) e antlari.

The Adi Granth was compiled during the period of
A) Guru Nanak Dev B) Guru Das
\hfi.ﬁ'ui Guru Arjun Dev | D)  Guru Hargobind.
81. @prorpgit diphs Gb

A) &t mIn_ &b B) QL&E.PED”@

C) &M Eh&ILTID D) dwoud.
Ramanuja's birth place was
A) Karmnataka B) Tamil Nadu

C)  Kanchipuram D,  Tirupathi.
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Bphoao omsdlunsamad e :

Fe i B {A}

HMTewd (R) :

gL sare Ghdurals usdl Guaswpbd, snuS GameeTaHEsDd G

ydlu svusmed CerLksaildamen.

sayel Ganaledled Guuilpssniidme. g paGlarGauEsLw
Giswsdleys Gsdlamrs Cueyd = arambaw 2 apaliLwrss
Gisredferer eeubleur® sellbUGEGSTEbD @ HeSlaTDTiT e

H(H eI T T &6

#Gip @O Qeaer @odilgd sfurer eloLwmus Carbsd :

1)

wihmn (R} @yeo@in aifl, Goepid (R) erestugy (A} e eflurar ellenégsn
wHmd (R} Gresnhie sifl, Guaud (R) aaiug (A) olpe sflurer allstéswee
o) seome (R) seuny

seun gpeormev (R} el

Consider the following statements :

Assertion (A)

Reason (R} :

: The Bhaktii movement ol medieval age and the saints of the

movement did not starl a new religion.

They believed that God did not reside in temples but in the heart
of every human being and the Truth lay in the person of every

individual.

Now select your answer according to the coding scheme given below :

Fa

A

B}

)

D}

P |

Both (A) and (R} arc true and (R) is the correct explanation of (A)
Both (A) and (R) are true but {R) is not the correct explanation of {A)
{A) is true bul (R} is false

{A) is false bul (R} is true.
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83. uwlguée Iy ugué Ilo i Qurepsdl, sGyp Gar@asiul Gerer GHUGamen s
Qerean@ sfurar il g CaibsH

U iqué I g wéy I
a)  Jeiyeur 1. Sysw eowésrn
b)  widlf 2. Hdl semnégr
c) QYOTSHSHNT | 3. Qar@lumert
d) ewps 4. Qeusflymey Grewevr .

Goldpser :

a b c d
A) 1 2 3 4
B) 4 3 2 1
C) 2 1 3 4

D) 1 3 2 4,

Match List I with List IT correctly and select your answer using the codes given

below :
List I - List II
a) Peshwa 1. Prime Minister
b) Mantri 2. Finance Minister
c) Amatya 3. Chronicler
d) Samanta 4. Foreign Secretary
Codes :

A) 1 2 3 4
B) 4 3 2 1
C) 2 1 3 4

o
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Slesteumeuer wrmeoLw surtSergset 2
“Gorsguledr sHos LHDHD eTEsTElE sat@mwbuTE WHe eadip deurg)
QuU(BETN&SILH SR .
A) J.N. gfr&ami B)  &moedl e
C) K.M. ueolléarr D) A.L. feuevgeun.
Whose words are the following ?
Shivaji is described "as a father of fraud”. "a sharp son of the devil".
A} J.N. Sarkar \A| Knafi Khan
C) K.M. Panikar D) A.L. Srivastava.
gfldler pEale NaLQUIlL 5. sdldr Cue saryb gD @;_g',@@ SHLLUULL SHEeenn
@leumenLwig).
A)  umurm B)  amrwomy e
C)  Qayi eyr @f D) yéuf.
The Mausoleum at Sahasram built on a lofty plinth in the midst of a lake was
that of
A) Babur B) Humayun
@ | Sher Shah Sun ' D) Akbar.
S&Ui 1584 & CaranPeaibs Caélw wab GeisuTr SHoWPeHaILLL.g).

Al Quag sremT B}  der @eura)

C) GITEST i ewed D) &g,

Akbar's promalgation of a new national religion in 1584 was called
A)  Ibadatkhana 8] Din-I-lahi

C) Jaroka Darshan D) Sijda. _
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88.

89.

e, eresTLg (pueleent euripallar seiesiHdle auguyb sewoTeRiT e T amiT

galestm

A) SHTHDEHTE Bl Gsalarleni

C} Curdl wed D)  aneumes &mrev,

Tagore says ".......cocvvnnnnn is a tear in the cheek of elernity’ this refers to
A | Taj Mahal B) Red fort

C) Moti Masjid D) Hawal Mahal.

et st ereiim LSsHsdle o élflud

A) 36 coumEs ' B) mé0 sren

C)  dunen Gus D) @urepn Siumé.

The author of Ain i - Akbari was
& T abul Fazal B) Nagib Khan

C)  Ghyas Beg D)  Raja Birbal.

apHeTwi &reosdley ‘G amyree: ereTuauT&en W 7

A)  Qurg s SUOURSGLCT &6

B)  Qeldl erpameutast whmd @blaliueurtsel

C)  eobpissr whnid §ply yEhed Carwn® 68 e se
D)  weppsd Celdl erssias wHHL &&eueTea g6,
Who were Harkaras of the Mughal period ?

A) Enforcers of public morals

B) News writers and reporters

1\

\E}I: Spies and special couriers

D} Secret letier writers and informers.

817
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91.

4] PGHY
@&@nmr’r&;@s@Lm ahs Lyl sle 2 esl uspPOuhp ‘wulle dboran

UGS LU Y (BHSH S 7

A)  WBsyidlefle o siien dlauretl amey

B)  ydlu syagr Camlent

C) GLéel Gernlari e e o 6fer nh w&HTE

D} Ouéved QenuCar e wles 2 sien dloumesr-gn-yib.

In which of the following Mughal buildings the World famous 'Peacock throne’

 was originally kept ?

A} Diwan-i-khas at Fatchpur Sikri

B) New Agra Fort

C)  The Rang Mahal of the Red Fort at Delhi

2

) | The Diwan-i-Am of the Red Fort at Delhi.

BPEHHETOIL 6LIT&HEIUGIS TS SHeue :

sahm (A) : @eenurseale GBLLTE, SEUT Gl W &Taoihsellepb

sGrallgwrer Bliteurs peneu 2 (Beur e,
gryeord (R) : sybur o etermidl  Blfeursd bl (Qwéernd  WT&TERT
Bliteurs gemwlliharaab Geyrayralhg maTblHaL e L RererTi.
S8 @Il Peirer @Bl ge efluren el ewg Carha® : |
A (A) wdpd (R) @reon efl, Cueyd (R) ereiug (A) elihe efluren ellenéeab
B) (A) whnd (R) @reo@n sfl, Gueid (R) esdtug (A) lhe eflurear alerdainde
C)  (A) &fl, yyemen (R) geuny |
D) (A seum. syamd (R) &),

LG]_?_J : ; [ Turn over
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Consider the following statements :

Assertion {A} : The Mughals particularly, Akbar established uniform pattern of

administration in all provisions.

Reason (R} :  Akbar is generally indebted to Sher Shah Suri not only in local

administration. but also in provincial administration.
Now select your answer according to the coding scheme given below :
A
“ 4 | Both (A} and (R} are true and (R} is the correct explanation of (A)
B) Both (A} and (R} are true, but (R) is not the correct explanation of (A).
C) (A} is Lrue, but (R) is false

D) {A) is false, but (R) is Lrue.

92. uwlgue Iy uwguwe Iz Qurgpsdl, &6p Qar@Gasiul Gerer GBUIGHE e
Qerem@) sflure alewows Caiblad :

ulgwés I uCiques II
a)  Quenien gy 1. ougde andy ew@er
b)  amewTwes Hrwr 2. @eurcold smedt
C)  UTHIeYT HTT 3.  @dwugrer Gusb
dl  pensTHeTU-2_-gyum 4. o6 uTsa.

GOBeer :

B) 4 3 i 2

8| 1 4 3 2,
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Match List I with List II correctly and select your answer using the codes given

below :

List I
a) lyar Danish
b) Humayun Nama

c) Badshah Nama .

d) Muntakhab-ul-Lubab

Codes :

D)

93. gorasdl Gégmplle o Snhs D@

A)

B)

C)

D)

salleng
@everrdly @emmllisey wHmd &L b
unde @levddlub

urrygan Guripenp.

Aurangzeb was a scholar of

A)

4
\_‘B]
C)

D)

Poetry
Muslim theology and jurisprudence
Persian literature

Persian warfare.

| 617 |

List II
Abdul Hamid Lahori
Khwafi Khan
Gulbadan Begum

Abul Fazal.
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94, Gur@mbeTssuhans CorbolsResa.

95.

96.

97.

A)  ughe dEaThalb B)  Jdflegy ergen
C)  apevgquryt Geugd D)  o@-mraen.
Find the odd man out :

A) Panchasiddhantha B)  Brihajjataka
\C}’ﬁl Hastyayurveda D) Laghu-Jataka.
ani eyt st Sysamah® alpos Lfibe Fort Luew)

Al Géli B]  wyeuredt Heumk

C) Qe vgrsr D)  wriGerGurGeur.
The Chinese Traveller who visited Harshavardhana's Courl was
A)  ltsing | \ar’ﬁ Hiuen Tsang

C) Ibn-Battuta D)  Marco Polo.
Fpsdlhdlus sdGueniien yener Quuwr

A)  urd sbQuef B} &b sbGust

C) wrmb sbGush D) e sbGlued,
The Nickname of English East India Company was

A) Bob Company B)  Sam Company
C) Tom Company i) ~ John Company.
@bduraler waeaipseiien 2 gapdloeind mhe 24600IH 2 HaT&HSILLL g 7
A) 1793 B) 1830

C) 1861 D) 1773.

When was the Supreme Court in India established for the first-time ?

Al 1793 B) 1830
Y 1861 D) 1773

617 |
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99.

100.

45 PGHY

CHDBSHTANDT LIGTITL saTenen eughe bhlaln, obEllen wppdlmphes aan smbus
WIT 2
A)  arfeseuredlan By B)  eurperGansug e
Cl  @uruil dleners D) Qeudevsiuedl Wiy,
Who remarked that "the war houses at Calcutta were a sink of corruption and
inequity” ?
Wl Lord Cormmwallis B) Warren Hastings
C) Robert Clive D) Lord Wellesley.
Blpsdlhdlu sbbluall aresde Ghdurale @bpalue wpsdde 2 &5UbE
Gueapenul(h Geiud fdnapb o
A)  pLLTRD Bdloeatmid B) wraeTem Bélweipb
C)  enai damel oiges D)  ersi HeTod) e,
Which court was considered as the highest courl of appeal in India for trying
criminal cases during the East India Company rule ?
A) Circuit court B) Provincial court
C)  Sadar Diwani Adalat PJ  Sardar Nizamat Adalat.
Lap QuDp GGLE o Blspid aps AaTG HLHSE 2
A) 1756 B) 1761
C) 1773 D) 1793.

When did the famous Blackhole tragedy took place ?
A) 1756 B) 1761

of 1773 D)  1793.

' 6_1'7_ J [ Turn over
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101. Sebraumeuseuppiet erg sMNurei QuUrmSsILL (ReTeng) ?

)  gfl eurflub — Qe G

B)  ughs eurflub —  ughsl ubdlu G

C} Qurer eurflwd — T 6001 6@ D

D) asewrég surdluid — BT CLTgesd LHOIW @GLp.

Which one of the following is correctly matched ?

A) Erivaryam — Gold committee

B Panchavaryam — Famine committee
C) Ponvaryam — Village account commitiee
D) Kanakkuvaryam — Tank committee.

102. Sesteumenateubmiet ergy shlwread QummsSslul (Hereng 2

A} wpéld — gusmm@&fol

B) eflureerid — 278 i

C} Oeulare — 278 Gueur e en
D} b@_b S — Si7e dlamyn.

Which. one of the following is correctly matched ?

A - Musiri — Busy harbour
B) Throne — Royal J ﬁstice
C)  Sceptre — Royal Supremacy
D) Crown — Royal Authority.
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103. Slesteumeusmeupmiel argl aflunsl Qummssiu Hiereng) ?

A} eyubligerev — SHEVE [T EmIeLD
Bl  e&n Gamibsdn e UBBTeUS G

C)  orélwue gapaind — shedH Gamlle
D) gedls Sn — 12 Garlur(fasf.

Which one of the following is correctly matched ?

A) Amritsar - Khalsa Army
wBY  Guru Govind Singh — Tenth Guru

C) Political Community —_ Golden Temple

D) Ranjit Singh — Twelve Missiles.

104. dlenrdl Guri pentQupp =y eor()
A 1757 | B)
C) 1799 D)
The battle of Plassey took place in the year
A | 1757 B)
C) 1799 D)
105. weCempnéd Qeraremallsar sheng wirr 2
4a) CaGamerdl dlyy B)
C) Geudveensd D)
Who was the Father of the Forward Policy ?

A) Lord Dalhousie B)

C) Wellesley DY ]

| 617 |

1773

1848.

1773

1848.

srren suraden LTy

alleuedlin GlLiesorig kis.

Lord Cornwallis

William Bentinck.
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106. erbGlumps @resoie b ophslGeow-Fadu Curn @mm idiug)
Al 1849 ‘ B) 1848
C) 1852 | D) 1856.
When was Second Anglo-Sikh war started 2
A) 1849 B 1848
C) 1852 D) 1856.

107. @b 2 Laugsamsurd Qasdematowd LiFershanyiaail flnhs = ndGewrts.eh

ﬁg@qagg,mrr.

A) ey ep e Galiey .B_L_sc'ﬂulq.é%c;m (1749)

B) uresong #Gafl 2 __eiuig seme (1754)

C) grevidmil o L ebTLg&Sems (1782)

D) DGRl 2L ssiLigSens (1784)

Madras was restored 1o the English by the‘French by
Ay | The Treaty of Aix-la-Chapelle {1749)

B) The Treaty of Pondicherry (1754)

C) The Treaty of Salbai (1782)

D) The Treaty of Mangalore (1784).
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108. uigquwes Ig wlque e d Qurepsd. &Gy Qar@sesiul Gearam goiiRsmens

Qeren® eflurer alav_eows CoibGs®H

a)
b)
c)
d)
Gl sr :
a
A) 1
B) 3
C) 3
D) 1

uliguiee I
et eumedlen

Gisudueveved)

aflevedwd Quedory g

LevGlamendl Sy
b c d
3 4 2
1 4 2
1 2 4
3 2 4.

Ligwey I
1. geeauiliuan_g $iiLb
2. curfidleveur & GlaTeneans

G

cugpomest sufl HFeur & &aiedl b el
S Bire regens seurs g6
4.  wrere phloam Cueacpernud

BHDID HLDTHD FHLSTDD SHemassHe.

Match List I with List IT correctly and select your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

A) 1
Bl 3
C) 3
D} 1

List I
Cornwallis

Wellesley

Willlam Bentinck

Dalhouste
b c
4
1 4
1 2
3 2

s NN A

List II
Subsidiary Alliance System
Doctrine of Lapse
Separation of judicial adminsitration
from revenue administration
Abolition of the provincial courts of

appeal and circuit.
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109

110.

. afr;ufrecfmc.q.m& SULQUTDDE HTi  ..ooov...... cuwgléy UTEHeT kG &dultes
UTEDemUGSTTT Lgadl 6D,
A) 30 euwsgy B) 32 ewg
C) 29 suwg D} 31 euwgy.
Vira Pandya Kattabomman became the poligar of Panchalamkurichi at the age
of
A 30years B) 32 years
C) 29 years . D) 31 years.
18 oy propreonger Godlule o hdGaumes adigral CGurt yflhs Clsearailbslw
Fal i_eobllDH @S Hevevend STRELCUT ... DB,
A)  Heushenslet whgum oyt
B) dlamped Carure mriusst
C) urgpererEhédllear alurangw sl L Qumbwes
D)  ergyeo mrwsr.

South Indian Confederacy which fought against the British in late 18th century

was headed by
A) Marudu Pandian of Sivaganga
B)  Gopala Nayak of Dindigul
2] Virapandya Kattabomman of Panchalamkurichi

D)  Yadul Nayaka.
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111. Qasrefihau L Hé@s s Srudluet ... G,
A) HEUT Tt LIt B)  Gleusiemenn(ha)
C)  osnem&Hew) D) Oeeaups sbll.

The South Indian Rebellion was headed by

A

C)

Marudu Pandian B)  Vella Marudu

Qomathurai D) Shevattha Thambi.

112. Gougymit seusb eTgeme bLhsas

A)

B)

C}

D)

Qoerefiplun Lyl 8 EEsII Lo, wse yrldurentest Ceugmerns

genaanoillTed Glameas () G ukdlent
Sluumiisei whdlllés oy ndlGowraar fev ydlu (peonaaeri Uebs Hlene sgeot
Geugyrv dluuriset weHlee Huyaljdr GEbub Yy d Celws gmeongen

pabodu yrens Wb Qaram@eur, @uUur_dl peaL Gubne.

Vellore Muliny was due to

A)

B}

C)

\B)

After the suppression of South Indian rebellion the rebels made Vellore as

their centre ol activity

The English wanted to enforce certain innovations in the administration of

sepoy eslablishments

The family of Tippu served as a causc of conspiracy among the sepoys of

Vellore

The conspiracy was to resiore Muhammadan rule.
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113. 1857 Siumi sesind Caraalubng. &OaTeamTe

A)

B)

)

D)

Codflu 2 awiieney @Gencmb@h Oereians, Yrldllée FRULL ganesul el b

@eveuroes Gurengy
BHSHEHL W Hleu gow 2 ewiianey bl (W uTHeT&HEe alpbller

HudlBan flerfiemea adlitumss sally Gaphs e v em wpb
Gh&Gare@nd @ibdlu tiumieall b Gesvembped Gumerg
qrldlller #RULL peraaiTasT, BanheLleTHalT she@hs@en &avaL l.Gib

Qurprenn Glarao@b @)mhHoer.

In 1857 mutiny failed because

A)

B)

C)

oy

There was hardly any national unifying sentiment among the leaders

a mere anti-foreign feeling coupled with a desire to maintain their feudal

privileges
The rebellious sepoys had no plan or aim except against British officers

The leaders were mutually jealous and continually intrigued with one

another.

114, Oeoumhd Sumié sews Blapaysomen sufarn fdHurs aulloeLBdse.

[ Geugrié seuasbd
1. emerengdla upse HUumis sesb
. GQuianrbyfe 19eug @pdlu Fuuml umi & saab

V. urysyfle 476ug venl & sesb.

@leupmiet :
A) L 1L IV wpme [ B) I 11 T ohme IV
&2 I, L IV uhmo I D) UL IL T wbob 1V,

(617 |
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Arrange the [ollowing sepoy mutinies in the historical order :
1. Vellore mutiny
I[I. First mutiny of the sepoys in Bengal
l{l. Mutiny of the 19th Native Infantry at Berhampur

IV. Mutiny of the 47th Regiment at Barrackpure.

Of these :
Al LI IV and I B) I, HlLlandIV
LY II. 1. IV and 111 ‘ D) I I T and V.

Geugyrfles peni_Gluhn Aoumit yyLl dlsames sy e

A grapies alldlipanmaet

B)  oeelimevett whoid Gleord @Ot sen Gl bl L es
C) saelursms Ubbl Hlubhseseo

D) | @eunmyst & glauiblevaney.

The sepoy revolt atl Vellore was caused by

A) The military regulations

B) Earrings and caste marks were prohibited

w}  The turban grievance

D) None of thesc.
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116. Neeumeuanaupyet aipGasbs Ofalaias 1857 duurin yyrdlld  sebs

GismeioLeotii 2

I aleusmlae
Il wpaerailsen
. sosalerer@nsen
IV. ueoipw sl BTiTae.
Bleudpyer :
Al lwpmb I B) Il whmyid I
C)  HwobHoo IV D)  @eubme o gieybléveney.

Which of the following classes participated in the Revolt of 1857 ?

I Peasants
II. Capitalists
II. Artisans
IV. 0Old Zamindars.
Of these :
A) [ and II | B) IT and Il
C) HandIv B None of these.

117. Seeumeuemounmyst areney SLLTLSEHLW GenUTHae ?

I

.

I

FhuerSHleyd LgHall 2 wialed LrguUl &b
Gibdlug duuriser 9 kdlGaw darilasme Seuwdldeiufsd.

QaraegTyn @sainy dluuriser veallyPydQurws euTeEshE

(PEDWTE LML T suLpAISLILL aldvemey.

V. oadlCau g@larflaame dnlssan urdiflorisen fuuriser wgdiile
WS UTIL 26né@edleslLDse.
A LI whgo IV B) 1 whoib IV
C) I whmyo IV D] @ semangaid.

| 617 |
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Which of the following were the grievances of the Sepoys ?
L. Diserimination in Payment and Promotions
I1. Mistreatment of .Lhc scpoys by the British officials
III.  Refusal of the British 1o pay batta while fighting in remote regions

IV. Encouragement given to Christian missionaries by British army

officers.
Of these :
A) [. I and IV B) IIand IV
C) 11 and IV BT All of them.

118. auGlurg o mdlCGau Gbdu @uramecusdlen Garwuy srallu guurésadl emeuss
Qareor et Id@ griursd SbwesluEsiul L g 2 :

A)  meubur 1856 B) gsbut 1856
C)  soevreufl 1857 D) Jdugeufl 1857.

When was the new Enfield Rifle with greased cartridges introduced in the British
Indian Army ?

A) November 1856 B) December 1856

L ‘ January 1857 . D) Febraury 1857.

119. @pdlus @yemwd vessla orélwue goaeueTal ey &semsiLueu

A aldelub Quesomghs B)  LéQanend
Q) e Gegetn auteLies D) &g,
.............. was considered as political philosopher of Indian Civil Service.
A) William Bentinck B) Dalhousie

VO | Fitz James Stephen D)  Curzon.

FG_ ﬁ 1 [ Turn over



PGHY 56
120. ‘gavedlphe Gleuesdianaw’ aarug Qeurg Ganeema oo
A} eumyesen B)  GuGum
C)  Wiew D) BITS Lemés.
‘Maslerly Inactivity' was not the policy of
A) Lawrence B) Mayo
_I_Q'J Lytton D) Northbrook.
121. 1903-04 & #l0useams Qeuns soaeuwllsn g hdGeawiae & ésdla.
A) Qamenid) coureieur B)  dll &
C) Wi @nEruLEssT (D) D) Covegorsiulol_emes .

Tibet was invaded by the British in 1903-04 under

A) Henry Fowler B)  Kitchener

&7 | Young Husband - D)  Lansdowne.
122. apevedic 63& ..., 246001() QT g,

A7) 1907 k3) 1906

C) 1908 D) 1905.

The Muslim League was slarted in the year

A) 1907 Bl 1906
C} 1908 D) 1905.
123, erestueut @hdlu Qurdhu usdlflenss s L sang Bam@d GamesHelber.
A) e Sy B Auues dgy
C)  DesmGurm dliyy D)  efass Oy

.............. repealed the Vernacular Press Act.
A) Lord Lytton 3 Lord Ripon
C) Lord Minto D} Lord Curzon.

617



124. @esigsraney e(pdlug wri 2
A Quaevgeiean
C) Qaemgevedlwr
‘Who wrote Indica ?
w Magasthenes

C) Kautilya

125. Querflu anbssersd Comhryaisseur wri 2

A)  spdlreis Guenflum

C) & T 6ot SWwiT

57

B)

D)

B)

D)

B)

D)

Who was the founder of Maurya dynasty ?

\;}q“. Chandragupta Maurya

C) Chanakya

126. sndlygls Queanflur auCurgy Gphart 2

A} flap. 298

C)  Hap. 269

When did Chandragupta Maurya die ?

L&  298B.C.

C) 269 B.C.

B)

D)

B)

D)

B)

D}

©lg Goy sehv

& T GOOT SLWIT .

Selucus

Chanakya.

©laenig cowiT

@& o Her.

Kautilya

Selucus.

.. 273

&l.p. 261.

273 B.C.

261 B.C.

127. @egremt waratiaefie leayb usp eurbbgeur wr 2

A) FHeolleiyaT

C) grmogls

B)

D)

(paHeTD hHrGUsT

ef LS.

Who was the most famous ruler of the Kushanas ?

o if\) Kanishka

C) Ramgupia

| 617 |

B)

D)

Chandragupta |

Srigupta.,
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128. saflayaller sawpsyd ag 7

Al ysegyTd B)  wagr

C) BT gL D) deorr.

Which was the Capilal of Kanishka ?

M | Purushpur B) Mathura

C) Kashmir D)  China.
129. Lgredaib aestug

A) @@@mn@ BTHD wHD HTH&meT mﬁg&;gj HL_HGHev

Bl gGuGEOsTHUT  ahdamesaaer 2 &yudliy Q&uhmnsmm 0 H myLD

PHELGSHCIET BT 2 T H eSleusmyigenda samaull Tamio
C)  &WLHEEUD UFEVUY BTN, SIDSWITE EUT DS
D) @ea semaggid.

Panchsheel means

A) mutual respect for each others. lerritorial integrity
B) Mutual non-aggression. mutual non-interference in internal affairs
C) Equality & mutual beneift peaceful. coexistence

DI All of these.

130. &peughd §p(b miTemen Ledongl geuguniomes Ghm erealaemey 7
Al ssdlu Cangenen B) 2 @ auperpilé umieney
C) eawsflos D) @hdu scsGiligiy.
Which of the following was not written by Pt. Jawaharlal Nehru ?
oy l My Experiments with Truth B)  Glimpses of World History

C) Autobiography D)  The Discovery of India.
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131. @hdluralier wae pardludlurssd CaibholsHsaiulL eulr
A)  @urardlmeipeosi e B) ooCusamt
C) @urGsbdly Siransg D) @é,wgé}e\m.
............... was elected the first President of India.
A) Radhakrishnan I3) Ambedkar
. 74] | Rajendra Prasad D) Hidyathullah.
132. profe aeniésllle usmaw HCr&sTana fphe Heveuwre Ukeemiy
A) DUt Gel 2 edsles (paepsers Cudlu e e
B satllssdley 2igiuame peopemuud whHmnn FGrmdledliniey
C) 365 prlsen GC&TettiL STevessT (i
D) @eves semetdHHi.

. The ancienl Egyptians made oulstanding coniributions to the development of

civilization that

A)  They created world's first national government
B)  Basic forms of arithmetic and hieroglyphics

C) A 365-day calendar

Pl All of these.
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133. @afleumid ara@iD 2 evhdHEl (PSS TGS QL6 (PEMEIW 2 (Heu balweur sefr
A} FIGpssiamet B)  edludluras
C)  QuasuBLmiluisen D)  Gumoreilwigef.

Cunciform the world's first system of writing was developed by

A) Greeks 3) Egyptians
“€€)  Mespolamians D) Romans.
134, Q@D G&rH wiprlge Ghdlu Gsdlw sradredd®,. Haardeae,

Sallyeur e a1ast @edoTLmaHl LeTeUaLhSE).
A) 27 geburi, 1907 B) 26 gsbut, 1907
C) 28 g ebum, 1907 D) 29 qebur, 1907.

The split in the Indian National Congress at Surat Session as Moderates and

Extremists was on
A) 27th December, 1907 B) 26th December. 1907
Yo 28th December. 1907 D}  29th December, 1907.

135. eihp ermdlydv wrprigd arhdyay sldl grest surTHud suseng GessTs

2lalissg 7
A) 1907 6 @rs wImHTE B) 1927 & Geatevean wrHTH
C) 1928 & sevedsm wrEHTH D) 1929 & ewmgam ompT(.

In which Congress Session did the Congress adopl Purna Swaraj as its goal ?
A) Surat Session, 1907 B) Madras Session, 1927

C} Calcutta Session. 1928 a E]/ Lahore Session, 1929.
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136. Cadlu Qusssdle Gynbhe salljeurdlse

A)  Geoug samergsdle bie 2 wins nblbams

B) g,zé,réjar;]rau - Hleow SUupiLRS S50

C) opdud Vs a@deh Qarsiasemu o bliiug

D) espdb aarg Upuyflown gms ool bCe dmeug aa@iLg Seursem Lhdlyb.
The exlremists of the National Movement

A) lad faith in the superiorily of Vedic culture

B3) Stood for driving out the British rulers

C) Were against the policy of political begging
J2) Manira was that "freedom was Lheir birth right and they must have it.”

137. 1947 0 2yen(®) @hdlu s#s6dl) slidos gmdler UTTTERIDGTDD ... &
LlaTa [ aubhsa.

A) 17 segeven, 1947 B) 18 g®eneu, 1947
C) 17 gg®etr, 1947 D) 18 so®etn, 1947.
The Indian Independence Act, 1947 was passed by the British Parliament on
A) 17 July . 1947 A 18 July, 1947
C) 17 June, 1947 D) 18 June, 1947.
138. apeumpeauaieupiies erg) eflursl QurGssiul Heteng) ?

sOposdd ssbdly Guasi

A)  2seOILH GO —  Bdloain ueTanul LméHsasd s e
B)  dloud) —  Slushosdg sl GlHge

C) @ursprgd —  sUub

D)  #Ggabdlgdlyer — usIINEs.
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139,

140.

Which one of the following is correctly matched ?

Freedom movement in Tamil Nadu :

A) Oomaidhurai —  Boycotled court work
B) Kisti - Fled Lo Sivaganga
C) Rajaji —  Tribute

vfj) Swadesamitran — Newspaper.

6They 60T S L SE&SW gmm&muuipg ?

A) 1950 | B) 1951

C) 1952 D) 1947

In which year the Planning Commission was constituted ?
A 1950 B) 1951

C) 1952 D) 1947.

.................... & Sl ergused wre Lsgrt erdudlfagn Greo_Gu gmeipsedor
eBlelly evaGumrliiuwrers,.

A) 10 speoreufl, 1966 B} 11 pereufl, 1966
Q) 12 spemeurl, 1966 D) 24 geeufl, 1966.

Tashkent Declaration was signed between Lal Bahadur Shastri and Ayub Khan

on

A January 10, 1966 B) January 11, 1966
C) January 12, 1966 D)  January 24, 1966.
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141, ., & @edlur médlu pnRear soudlar Blpoe 2 pillayre yseb
QgL sasdle @mha cumding.

A) 24 o5GLnui, 1945 B) 23 946G mur, 1945
C) 22 2&CLrui, 1945 |9)] 21 asGUrur, 1945.

India is a founder member of the Uniled Nations since ils eslablishment on

.\_A’I Qclober 24, 1945 3} Qctober 23, 1945
C) Octlober 22, 1945 D) October 2], 1945.
142, ... eredim Wirpw oh&l sresdle Feaduinet Bg “He bl esbdly Heugbans

Guhaireiemiul L g;.
A) @ibglym anrhdl B)  seuaniera Gme
C)  yrgdeu srid) D)  ©0.Gs. @gyré.

The 'Blue Star Operation' on Sikhs happened during the Prime Ministership of

A~ Indira Gandhi B)  Jawaharlal Nehru
C) Rajiv Gandhi ) LK. Gujral.
143, ... aatused yuueLd Gedlu weraohsst 1956 & wrd ey
Qe L gy
Al Qumfl B)  urly
C) w&sablgras D) @Eeob.

Re-organisation of Indian States in 1956 was on the basis of
A Language B)  Area
C) Population Dj Community.
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144. eiBurg emidlyan apeveld efseb pr@ dfley Sl soa gpms Cares g 2
A mOen 1947 B) wo®ear 1948
C)  o®en 1949 . D) o 1946.

When did the Congress and Muslim League accept the Partition Plan ?

*j June 1947 B)  June 1948
C) June 1949 | D) June 1946,

145, ¢ = mevl wraramRetld GSTHAITE SIemns#enel embHSULL L g 7
A) g Wi sremreele Bl | 0y Orsramhselle
C) T (R LDIT 817 GunsT 1k &> 61T G D) L&H LTI,

In how many provinces was Congress Ministries formed ?

S ) 7 provinces B) 6 provinces

C) 8 provinces D) 10 provinces.
146, ey &ThHS) uEGET@en QedwiulLTT 2

A) 15 gy eev, 1947 B) 20 goett, 1948

C) 30 gemeurfl, 1948 D) 30 gereufl, 1950.

Gandhiji was assassinated on

A) 15th August. 1947 B) 20th June, 1948

&) 30th January. 1948 D)  30th January. 1950.
147. 1pad gmbare(d Slib euGurg grouksiu’ L g ?
Al 1951 B) 1952
C) 1953 D) 19324.
When was the First Five-Year Plan initiated ?
LA) 1951 B) 19562

C) 1953 D) 1954,
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148, Farmeyeast ughs fav epriLiban eriGuirgy esGwTiLDTesTg) ?
A) 1954 B) 1951
C) 1950 D) 1955.
When was Panchsheel Pact signed with China ?
A 1954 B 1951

C) 1950 D) 1955.

149. “@ee. upsdsepsan wHRD CQUTWEHCUT&EGL UTLGRGET Wetlg @D ke amer

BT asilédlaime” @semen @I Leut wri 2
A) &)G&!oooléQQuJGiU B) W, é‘|
C) er-Ceur-Ge. D) Querdlwesn.

"A man's character is formed by the odes developed by Rites and perfected by the

music.” — Who said it ?
& Confucius ' B)  Yu Tze
C) Lao Tse D) Mencius.

150. sradlmha urgdaisel smaflurd’ ewdHes (paonawsd sl UG ssr Tl 7
A)  QueuGLmblum B  &Guflur
C) @.rjrggﬂu_lrr D} urGeumerhiwi.
The Persians inherited 'cuneiform’ writing {from where ?
&  Mesopotamia B}  Sumeria
C) lnd‘ia D) Babylonia.
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151. 65,000 urFeveuwrent w@mbd ol cug ey QHelldmss snsans ownds Comoraiu
\DEGT T T LT 2
A)  amgiw webtesit Bl e®elluev Foi weitet

C}  oymeuLdy web e D)  sevgefles wedreod.

Who was the Roman Emperor who built the Collosscum with accommodation for

65.000 speclators ?

/&)  Emperor Hadrian B)  Emperor Julius Caesar
C) Emperor Augustus D) Emperor Justinian.

152. &iQyée prafiasde woeld @y Cublueursai
A) ol g e e B3) @amevestlsy
C)  afymen D)  enmifl ev.
The first seltlers of Greek Civilization were called
A)  The Hitlites NE | The Hellenes
C) The Hebrews D}  The Hermits.
153. gedlnlle edlemerwmi_enL @r’rmnmﬁﬂ'&,g} LesoremL H1Q&He HLeyel
A)  sheyeiv B)  Gleuigdlé
C) e D} Gammwf.
Name the Greek God of Ancient times in order to organize Olympic Games.
v.(l ’ Zeus B)  Vergil

C) Pindar D) Homer.

| 617 |



67 _ PGHY

154. uemenLw Grrmefutler Guorl
A)  &Gréan B}  JGygpe
C) @G D)  oide.

The Language of the ancient Romans was

A) Greek B) French
C) Italian ,D)/ Latin.
155. udlhé) Quibm LeL aTyissT ..o ETEBIY SHENLDEBHIILIL L 6BIIT .
Al yEBLITFEe B}  deblSlweseiy
C)  dlenmgCui L e D) ofleduGrdlymev.

Trained warriors are called

A) Plutarchs B) Plebians
£) " Gladiators D)  Aristocrats.
156, .o s Qe UESEID susmawley UataoL HErsan pelinllé alamenum._sn
BL-SaHIDgl.
A)  geysiv B ouurGer
C) @@ D) edlemmr,

The Olympic Games in ancient Greece was held in honour of
&  Zeus B)  Apollo

C) Mercury D) Athena.
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157.

158.

159.

160.

slLLg yemeneumd swb, alerfiga B8, whsaned HoLESIULL rs, CuTep

HEJEOT SDEBIBTWAD ..evvvrreeceens 6@ HLeTUL [eneng.

A SCysadaen B Gororefwdse

C) s Andwri e D) darisen.

Modermn democracy owes a debt to .............. beliefs in Government by Lhe people.

treat by jury & equality under law.
e Greeks B) Romans

C) Egyptians D}  Chinese.

hebicr DS bemves (pement arainy UlIfGaralen Qe pearestd@l Gl L eur
A sned eretip Gumiié el wedtem B)  cursv@ermL &mwr

C) . 748CardlGur Lweu D)  @peutsaile aaimbler.
.............. named the southern most part of Africa "Cape of Good Hope".
Y Portuguese King John B) Vasco da Gama

C) Bartholomew Diaz D) None of them.
UDEGD BT Teveus S0ty speut 2

A sorvetr Ge B)  yidlGrsu

C)  Lmé wHmb emeuwrel D) flésr® séorQ.
Who invented Flying Shuttle ?

%)  John Key B) Hargreave

C) Paul and Wyalt D) Richard Arkwright.
£8 @O Peisneutaeies wri epmeut spallwri pidveut 2

Al ACuresrrBur Lrelard) B)  &lgniodi

C) ow&slsd iehdlCer D) gr@ué.

Which among the following was not a painter ?

A)  Leonardo da Vinci B)  Crammer

Q) Michelangelo D) Raphael.
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Guw 1873 whpid 1874 & Gigai Raenée adyrs ‘Go sl Lisamer QT ubs
BrH erg 2

A)  Jgreme Bl @adlerhg

C)  Ooiwef D) @ssre.

Who passed the 'May Laws’ againsl the Jesuits in May 1873 and 1874 ?
A) France B) England

O&f Germany D) Italy.

Gisarell medlud 2 (HheuThGusDHE PSS Wl BT e

A)  wrglell, seyrr, eflurély, GeamLmb aléL it GLorayed

B)  sfluréig, seyt, GuLieals, @rasiLmd eleLi G e

C) wrglell, sflurdng . QuLralé aparmrb alldf Guom gy

D)  aeyf, sflurdng. wregdlef. apesipnbd allsLd Glomguec.

The Italian unity was brought about by men like

] Mazzini. Cavour, Garibaldi, Victor Immanuel Il

B)  Garibaldi, Cavour, Metternich, Victor Immanuel I

C)  Mazzini, Garibaldi, Mettermich, Victor Immanuel IIl

D)  Cavour, Garibaldi. Mazzini. Victor Immanuel II1.

G uliflas praflageosuyd, ome ydlu uflsmeayd soflaerhaomenyb
s llgde 2 sain yallblude cdmsgaisaler LI @LE saoudld  2dla

&SN STLIQLeul wmir 7
A) Slerulom & B) aflumég
C) Guuialls D) @peoLmhd SGurGuméiss.

Who took keen interest in African Affairs and summoned in 1876 an
International Conference ol Geographers from all parts of the world to find the

ways and means for exploration and civilization of Africa ?
A) Bismarck B)  Garibaldi

C}  Metternick B, LeopoldII.
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164. 1894-95 b syeso(h Far-muumeiug GUT®BHSTRT (P& &TTeoTD

165.

166,

A} Qarfluralie siureiar 2 flevw smpse

B  uwey@Hurale smuure 2.flemn sapigen

C) guuralug aser g dar 2 flow ampse

D) Qerflu sshdrsames Farm ghe LRSS,

The main reason for Sino-Japanese war in 1894-95 was
&0~ Japan's claim over Korea

B} Japan's claim 1‘n Manchuria

C)  China's claim over Japanese islands

D)  China's refusal to accept Korea's independence.

................ girds 1921-22 b gyao@ euradlh e wIHTE BLSSUULL 8.
A) & Sleadae B) Copasdu Sescser
C) Opandlpse odlu Sesdsast D) gy flpée ddmeme..
Washington Conference was held in 1921-22 to deal with

A) Eastern questions B)  Western questions

C}  South East Asian questions B2 - Far Eastern questions.
dymwo waselb gaprer Guilu Gl Gl

A) &meiueﬁ]@gfo B)  wumed

C)  Jrflmen D) Sowns.

Name of the language Jesus spoke to the people in the villages is

A) Sanskrit B) Pali

C) Prakrit p’ Aramaic.
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167. &Gy @&n@&&ﬁug@m&mﬁ&aﬂw s Qubp eusialiuc, GG eugerHn
yelllwer eudveyeit. Glemeu SjemersHlaid Lapubmeut
A)  Gloustr ugET B) @ues Giseren
C) o @Lfevs D) &6 ymed.

Among the following who is a famous astronomer. physician. historian.

geographer, all added into one ?

A) Ibn Batuta B) Ibn Hakaul

o Al ldrisc \p’]ﬂ'. Al-beruni.
168. Spsaeo curbdlutisanand seush :

gam (A SwermiBLr Lralladlller sressre ouflds pyurs pédlu
vl gen GuorGenmellerayd et gl o awiayd 3 @b.

sryeoid (R): @eul gelu acargdle bl umsamw) uwdETURSGD -
HEUSSHEN LWETLESH b 2 TaTs 2 awiiame L@mfrsaa%mrrrr

&Gy @@udh_@eneﬂ @Ol g é eflurea el owug Casipblsd :

A) (A) whme (R) @eain #fl, Gueyd (R) eretug (A) ellivg eflurat afienssain

B) (A) wbnbd (R) @resoid efl, Guend (R) erestug (A) alivg sflures allen&awnei

C)  (A) o, syame (R) soum

D) (A} g;eu@. e (R} el

Consider the following statements :

Assertion (A} : 'Monalisa’ and "The Last Supper’ are immortal works of Leonardo
da Vinci.

Reason (R): He adopted new painting techniques and experimentd with oil
paints to give his work a fine feeling of reality.

Now select your answer according to the coding scheme given below :
,.;XT . Both (A} and (R) are true and (R} is the correct explanation of (A)

B) Both (A) and (R) are true. but (R) is not the correct explanation of (A)
C) {A) is true, but (R} is false

D) (A} is false, but (R} is true.
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169. wrenGi_evdly, o pdlu L.|‘5sgp Qupm mredlest GlLwi

170.

171.

172.

Al sWsTL GUUBSD B) sl Lmsellar s@mubummer

C) peovgeaid D) OnpuCurdu sl L GareLy.
The name of the famous book of Montesquieu was

A}  Social Contract B.  The Spirit of Law

C) Das Kapital D) Napoleon Code.

1911 oyid yer® et yyl Sllest eflevereuns arhg cube St 8 WIS abSHS! 2
A)  Gigen subsb B}  eumi eubsid

Cj LDiEgh&h euD&ID D) W6UIT 65T euDeLD.

Which dynasty came to an end as a result of the Chinese Revolution of 1911 ?
A) Sen dynasty | B)  Wang dynasty

/Q] Manchu dynasty D)  Yuan dynasty.

Gureazalls UTL Hlégs s Shdlueut

A) Qewefes B)  gprlend)

C)  euLmedle D) @Geutsefle ereumiblevt.
Bolshevik Revolution was led by

A Lenin " B) Trotsky

C) Stalin D} . None of them.

SQuoflés sgbhdyy Curfler Curg Ghidlearhdler werert

A)  @yesmmd i B) apeipTid gmitsh

C) (paerbd g D) @uemLnb ermesh.

At the time of American War of Independence, England was ruled by

A) George 11 ﬁ) George II1

Q) Charles | D) Charles II.
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73 PGHY
1848 v e Yyl dldel Jing dyrardle westeym & suams ye yeonhs .-
Al @yurs
B) o derrb Gupp wereryr_§)
C)  Swdud srsendbdhe 2 UL wesegml_él
D)  seuens &,

Which form of Government was established in France after the Revolution of

1848 ?
VA)/ Republican Government B) Ahsoluie Monarchy
C) Constitutional Monarchy 12)  Liberal Government.

Gueteonls Ly meL Qibn gy o1

A) 1688-89 B) 1687-88
C) 1690-91 D)  1688-90.
The glorious revolution took place in

2Ny 1688-89 B) 1687-88
C) 1690-91 D) 1688-90.

S PHSHETOI. euUTSHAWhHE & Hevuetl :

sy (A): wafls Ger eugerhdle £0whse asbdlyn Gurt @ WS
ble pey.
grgeooid (R) : 0nghs weest  Qar@rome watanrl dlow  adlis@b

| paTLTeew S@wfssn Ly dills aflamarairs qnuLLg.
£8yp @l Qeier @Bl g eflurer aflenows CarpOsM -
Al {A) vbmpd (R) @uen®in afl, Gueyid (R) eretrug (A) e sfluras aleréain
B) (A wbpi (R) Grao®n sf, Quaid (R) araiug (A) olpe sfurer alerésnde

C) (A ef), yyeomev (R) peumy

D) (A) geumy, georres (R) el
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Consider the following slatements :

Assertion (A) ©  American War of Indcpendence was an event of great importance

in the history of mankind.

Reason (R} : The American Revolution had ils impact on the French who

groaned under tyrannical monarchy.

Now select your answer according to the coding scheme given below :

A)

B

C)

D)

Both (A) and (R} are true and (R) is the correct explanation of {A)
Both (A) and (R} are true, but (R} is not the correct explanation of (A)
(A} is true, but (R} is false

(4} is false, but (R} is true.

176. Lwhsy L dl Hen_Qubn Hrab

A)

B)

C)

D}

Qeuibur 1792 - g@ee 1794
HeuE 1791 - Qadbur 1793
2&CGLmui 1792 - sOemer 1794

QleliLb 1792 - Qe bur 1794,

The reign of terror is [rom

Ve

B}

Q)

D)

September 1792 — July 1794
Augusl 1791 - September 1793
October 1792 - July 1794

September 1792 - September 1794.
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177, wlguwé ITe ulgue o a Gurgpsdl. G Qer{eeuul Hefren @Q‘ﬂuﬁ’@&mm&»

Qaran® sflurer alen_ewg CornGisd

a)
b)
c)
d)
eORser :
a
A1
B) 4
G 1
D) 4

Ul ig e I
BIHGD SEHed
gmpGeusy &lymibl e
erevlweny GamrGeu

fléam® oyfdemyl

2 3 4
3 2 1
2 4 3
2 3 1.

g wés I
1. Geomev amridlfelsn
2. mrheb blys smal
3. freslLi

4, ozud Gubdyo.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A) 1
B 4
o 1
D) 4

List I
Spinning Jenny
Samuel Cromplon
Elias lHowe

Richard Arkwrite

b c d
2 3 4
3 2 1

b
w2
|

List II
1. James Hargreaves
2.  Spinning Mule
3. Water Frame

4, Sewing Machine
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178.

179.

Fp Qer@ésiul@eien veansea gflumean gilu sre  afloslaer

eufleme LGS 815 .
L. Qe m ent yGlevdhsn e
I epstiprd enm Holewdhemesoit

. @ueoLrio e HleaGameaen

IV. flaGarasy Qeellear.

A) IIHL IV B} VUL T

O LIL UL Y D) IV, UL L 1L

ldentify the correct order of ascendancy of the following rulers:
I. Czar Alexénder 1l
I1. Czar Alexander III
IIl.  Czar Nicholas I

IV. Nickolais Lenin.

Of them :
A LILIV. I B) I IV, LI
¢) LI ULV D) IV.ILIL I

&8 QarResiul (eien o L @ILG&@ssEhel he 2 L e1Lg&Hensd [y s eflwl

CurmseL Jeatan eawapsdlc L Lg

A) urfle 2_L Ly dand B) Quireller o L efTLig &6 g

C)  Gurrlievweyd 2 LUy &Hens D}  Qeur@leleven 2 1 e &ans.
Which of the following treaties was signed after Russo-Japanese War ?

A) Treaty of Paris B) Treaty of Berlin

Q]'. ; Treaty of Portsmouth D)  Treaty of Versailles.
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180. epesimmd s1ir Cev&eTam_Héoh e weient QuIrpGubmeur

181.

182.

¥

A} mreeTn.emi 2ybleud s TetiLIT B)  epeipmd HieGameust
C}  mransrd HleaGameven D) @euisalley ereumble.
Czar Alexander III was succeeded by

A) Czar Alexander 1V By ~ Nicholas Il

C) Nicholas IV D) None of them.
Qepriomefiu eédlwid

A)  Uevorisdla “@uesepd @mbyb aen Gemeranaillad &g L.
B)  ardveufle ereyd Gur@menmgry jemnllle #mgenenum @b,

C)  Ugevw werergmes peerd aleeilub erasrucufler 8mgenenwmgb
D} 1871 b oyeonges gmauil o L etuigsens dlar §mgeaneamnum@b.
Unification of Germany

X) was achieved by Blood and Iron policy of Bismarck

B) was achieved by Zollverein, the economic union

C)  was achieved by King William 1. King of Prussia

D)  was achieved by the treaty of Frankfurt (1871)

F\péaHestteubnien ergy eflural GumBesiul Heierg 2

A} afluréug — aSyd Qedihe Cumtealtyes
B)  wrgfedf) — Orsw whd

C)  seur — @)H&meNNesT WwebTeors

D)  allst GuorenCGeud — gmiGurestil.

Which one of the following is correctly matched ?

A) | Garibaldi — Brave Soldier
B) Mazzini — Prime Minister
C) Cavour — King of Italy
D}  Victor Emmanuel — Corbonari.

| 61 fl [ Turn over



PGHY 78

183.

184.

185.

g iifisaraile nan Qubn sreall g fléaswb, gardugdHiucpd saug

A) emaBst pdliugdlou Quagiub o &68nlsas e g

B) e guiflesl ugdlew Syree ouefsas Came g

Cl s wsiupdu ugdlemer paflacanss Cabe uiifles wallua asim
SR e aflalsss.

D) eLirer ugdl @huderbg. Currdlar o ugdure GLb Guibng.

Colonialism and Imperialism in Africa means

A) Belgium tock over the control of Congo Basin

B) France took Northern part of Africa

)  All the lands acquired by Britain were grouped together and named as the

Union of South Africa.
D) Sudan became a part of a British Empire.
FpébomrLubnst 1854 b yevigd giurdar Copssdlu pTRsEHHS&S FDhHE
Sl UuBeus D sTyeoLTs @\BHS HTE 68 ?
Al Gradlerhay B) 2Guflés spédlu mrHaet
C) Qgiweil D) suGudes.
Which of the following nations was responsible for the opening of Japan to
Western Powers in 1854 ?
A)  England ,B‘)/ United States
C) Germany D) Spain.
‘FeT WHHET @IS eThS L eRTIe LWl QubDEg: ?
A) 1948 B) 1949
C) 1950 D) 1951,
In which year did the Peoples Republic of China come into being ?
A) 1948 B) 1949
Cy | 1950 | D) 1951
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‘@SoTelu Qubssdld Sisastlidl adin Sempsain@laTmeurt wrt 2

Al wrgled B)  &eurf

C)  afluméug D)  eetugmd Lwsh.

Who was called as the Prophet of the Italian Movement ?
A Mazzini - B) Cavour

C) Garibaldi D) Pius IX.

tanbe @Qssrdllllat Qmoshslisosl LLETLHSS) sgé':eﬁwém@ FHLRS D
Qurpiilieoes Spuiset aaaflb QarGosad. prlar Gad @hduralle
HOeHHOTe ypame el G Gisemed amblueul wrm ?

A) ey, B)  afluréug

C) wrghled D) eeéusmd uwus.

“They have presented me, from making Haly by diplomacy [rom the North. I will
make it by revolution from the South.” - Who said it ?

W)  Cavour B)  Garibaldi

C) Mazzini D)  Pius IX.

copavdlfluneaub, SgrensLaun geur Cupeans Qarsiamssdn  Syeufld
SlesrQlsormp euflllesr afy ssdlnemen Geuefliu@Gsaidlamer - wrmeLw alysd pes
@

A Serowme & B) &ey

C) sifluréug D)  wrgdledl.

"His dealings with Austria and France provide ample evidence of his strategy of
alternatives,"” - Whose strategy is it ?

X ¢ Bismarck B) Cavour

C) Garibaldi D) Maxzini.

5.5 . 8enu Hiyeuliu’ g @biblapsdlagl Webe G

A)  peiyw spuumeflu Guirghée Sesteont
B)  wsenbd zewsl Quirkhael Ween
C}  @uewmb 2 eel Curmpael Ueren
D)  eumlideyr Gummegls Nebres.
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190.

191.

192.

U.N.O. was eslablished alter
A) Russo-Japanese War B) First World War

<y  Second World War D) The Battle of Waterloo.
uesteorr.(h Hlnyeuensdlen Camevallbare (psheemns &Tiyeoord

A)  Gadlu greme erqpsél B) Qued pr@esilear swpens Gurée
C) @urameu ydlerrdleaians D) QleuiGlawe 2 L ey Hans.
Chief reason of the downfall of the League of Nations was

) Militant Nationalism B) Selfishness of Big Powers
C) Lack of Military power D)  Treaty of Versailles.

76 qu & Syrerdlen Quigemen@® Garaelil L @b

A) Guimsrvestlusr B) ‘Q&r'nﬂ]u_lrr

C) @&U@@m%\' D) Quiele.

Archduke Francis Ferdinand was assassinated in

A) Bosnia B3) Serbia

L&) Sarajevo D)  Berlin.

WHVTD 2 el CUTHHGTE 2 L 6Tigé STy eRID

A)  uvsdlileasseilan ukig

B} @U@me oﬁle\;e&‘ﬂmm 2yeflan Qameimasar

C) =yt g s Ayrendlav Quigesmeif Glemeveoiin L bl né s

9] Qiudleurbhlest Glameienaaef.

The immediate cause of First World War was

A) Press propaganda

B) Policy of William II
~€)]  Murder of Archduke Francis Ferdinand

D) Policy of England.

B 1
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193. sarésnysslear GG o lIL@LWTE STTeRTheEhs (peaaburer GaTl ur@

EseurGD.

A yedthwe

B)  Qur@menmgry epevhis e

C) o aoe Qurgorea flaves

D) wbp prefemsghe o cier Gemiy.

The most popular of the theories accounting for the rise of advanced culture is
W  Geography |
B) Economic resources
C) Food supply
D) Contact with other civilization.
194. gflu srevaoLt wen s@dllyssiul @, Jaei boLpeandgs C&rao@

QUL L. 2 etoi ()

A)  dlap. 4500 B}  &.ap. 4400

C)  &p. 4300 D) &l p. 4200,

The invention of solar calender was apparently put into effect in the year
A) 4500 B.C. B) 4400 B.C.

C) 4300 B.C. B 4200 B.C.

195. o8l praflagden awsdlureargy QureuCLrblu prefe eertédluller ...
Hlealleea d @nléeb.

A) (PG D B) @eoiimib
C) ewpenTd D)  mretsmb.
The Assyrians rise to power marked the beginning of the .............. stage in the

development of the Mesopotanian Civilization.

A) 1 B) I1
o D} IV,
196. @emenw G)ésrell eTetin Syeniblisoug gieubdlueur wr 2
A)  wrgled B) pGemeblesi
C) ’er,sqsém; sy D)  QuuLisé.
Young ltaly was started by whom 7
, A Mazzini B) Mussolini
| C) Count Cavour D) Metternich.
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197, erestueut Glepiwesiulesr Gymby wedllg. -
A) sayett & eyt B) aflurdg
C)  Jevwris D]  (aerDd elceilub.

................. was the Iron Man of Germany.

A)  Count Cavour B)  Garibaldi
/QT - Bismarck D) William [
198. oGufléaralean Gadr Camy (pamenllenss ................. 61GBIM) e pLILIT .
A)  Guiriey emevedt B) ydlw 2 esbd
C)  Ouaeesr merend D} @eubmer ergyeyblevency.

The southern most tip of America came to be called as
A) Popes Line B) New World
,C)“ Strait of Magellan D}  none of these.
199, "QuyamLy arav(, QureaL av foallear aan Ereves aupdlweat
A) Gaysavilum B) somett BleuL edt
C) A erdlsdluc D)  Qgibeu molad Gerbleud.
"The Paradise Lost, The Paradise Regained” was written by
A} Shakespeare ~B) j John Milton
C) Nissim Ezekiel D) James Rusell Lowell.
200. &peupd Qpmflé egy curau@am-L - sgbh@s QrLiifidveme 7
A eCuurabed @bdurased ydlu whpb oabHe  auflseeryd
& (G & &
B) @eunée Gerédldr oyyer sflurar auyGoibesu efidaailsvamen.
C)  @eul @idluresen 1498, Gu 17 6 SyeL_phSTT.
D) 1502 & Qeur Giduralbeg @earLmeug Lwerid GuhHlemetm.
Which of the following staltements aboul Vasco da Gama is not true ?
A) He discovered the new and all Sea routes from Europe to India

A

IfB] He was given a hostile reception by the ruler of Cochin

C) He reached India on 17th May 1498.

D) He made a second trip to India in 1502.
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